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CLASS -5 DATE —03.01. 21
SUB -MATHS S.T-PRAGYA
BASED ON N.C.E.R.T PATTERN:-

CH - MONEY

100 paise= 1 rupee : 1lpaise =0.01
rupee

For example : -5 paise =0.05 rupee
10 paise = 0. 10 rupee
CONVERSION OF MONEY (X -P, P-X)

EXAMPLE : Convert the following into X
rupees/rupee ).

a.7p = X7/100 = X0.07
b.125p=%25/100 =X0.25

Subtract 26 rupees 75 paise from 60 tupees.
26 rupees 75 paise=X26 + X 0.75
=X 26.75
60 rupees = 60.00
The difference = X60.00 - X26.75=%X33.25



Answer : The required difference isX 33 .25
Follow the example and solve.

1.Write the Decimal notation .
a.62p b.35p «c.6p

d425p f. 470p g.350p
2. Subtract .
a. 6 rupees 13 paise from 13 rupees 25 paise
b. 17 rupees 60 paise from 26 rupees 32 paise
c. 22 rupees 50 paise from 36 rupees 50 paise
d.32 rupees 60 paise from 36 rupees 45 paise

e. 26 rupees 30 paise from 40 rupees 60 paise
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